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SHTEE FEJIN—THR—EBRHEEER

TN—F 4
EATEEN 48,000 24,000/ x 2 A
| e |
FraBEREREH 12,000 (3,500 /B8 x 1B5R8)+(1,250 /305> x 1B5FE) x 2 A
EATEEN 48,000 24,000/ x 2 A
2 2¢< REHIL 14,640 3,660/ x 2\ x 2 (ABIEENH) >REEFIA
FERERERH 0
e AL 48,000 12,000/ x 4 A
3 CCD REHIL 0
FERERERH 0
e AL 24,000 24,000 x 1A
4 EJZ?S_M‘;/LE:./%E% FREHL 7,320 3,660 x 2 A\ x 1B (AFAREOH)=>RBEEHH2A
FEERERH 0
EA:TEGETS 48,000 24,000/ x 2 A
5 AREIEDOR REHIL 0
FEERERH 0
EA:TEGETS 48,000 24,000/ x 2 A
6 ESRY—IIL- 20 REHIL 0
FEERERH 0
EA:TEGETS 48,000 24,000/ x 2 A
T | BEI+—FL-DELL REHL 0
FEEREREH 0
&% &t Bt
EN AT EEER %Eiﬁ?j&#*L 312,000
REHIL 21,960 345,960
FraEREEH 12,000




